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TEST BOOKLET

' MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

8. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4, This Test Boaoklet contains 120 items (questions). Each item is printed both in Hindi
and English, Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

o

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet. :

‘9, Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. :

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third {0-33) of the
marks assigned to that question will be deducted as penalty. .

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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1, The relation

| R {L 1,22, (3, 3, (L2, 2 3), (1, 3}
| "onaset A={,2 3is

‘ (a) reflexive, transitive but not
. 1
symmetric

fb) reflexive, symmetric but not -

transitive

o

{c) symmetric, transmve but not
reflexive

{d) reflexive but neither symmetric
nor transitive

2. If
1 -3 2
2 -8 5
4 2 A

~

is not an invertible matrix, then
what is the value of A ?

(@) -1
(b} O
fc) 1
(d) 2
3. What is the number of words that
can be formed from the letters of

the word ‘UNIVERSAL’, the vowels
remaining always together?

‘@) 720
(b) 1440
() 17280

(d) 21540
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4, The arlthmetlc mean of two numpbers
exceeds thelr geometric mean by 2
and the ‘geometrlc mean exceeds
their harmonic mean by 1-6. What
are the two numbers?

fa) 16, 4
fb) 81, 9
fc) 256, 16 ' -

(d) 625, 25 ' v

v 2
5. What is the conjugate of (“2‘) >

2+1
' 24
___+ —
@ 35 %%
7 24

(b} 25 ,IE -
(c) ——?--‘i-izZi
25 " '25 5

. R
@) —-i2t
25 ‘25

* 6.. If the equations x? +.kx + 64 = 0 and

2_8x+k = 0 have real roots, then
what is the value of k?

fa) 4
() 8
fcf 12 .

{d) 16




1 @R R={11, 22, 33 2
@ 3), (L ), FT A={, 2 JN

(@) @gE N dEmE ¢ ueg wehe
Té“f%_ :

(b) W 3R wAiE § Wy TS
TR

(c) i@ 3R dFmE ¥ 9y WA
EEi

(d) W%an’rmﬁa%ﬁr{a
. 3 )

2. IR

1 -3 2

2 -8 5

4 2 A
U SIoEECiE g TE }, @ A w1 AN
w87
(@ -1
(b} O
{c}
@ 2

1

3. W ® wWW & WEE Wd W,
UNIVERSAL’ ¥ & 180 @ 9 1
T 91 Weel Y § M R7

(@ 720
(b)
(c)
(d) 21540

1440

17280
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4. A gEna F TR A I I WA
¥ 2 w9 R, 3 Ui AT S s
T W 1-6 S 8| QA WEend F4 37

(@) 16, 4
(b)) 81,9
fc) 256, 16

(d) 625, 25

6. g2 whwwl x2 +kx+64=0 3R
%2 —8x +k = 0% Ue IaS &, @ k
EaRs i -
fa} 4
(b} 8

) 12

{d 16

[P.T.O.




(B0 '10. If wis a complex cube root of unity,
7. What is ( Jﬁ—i] equal to? then what is '® + 0710 equal to?
2
@ -1 {a)
-1
(b} 0 _ - )
fc) -2
fc) 1
(d 1
(d) 2
11. If the roots of the equation
8. If

(c:2 +.E:2)Jc2 -2bla +¢)x + (b2 +c?)=0

A—OIB IOC_O—I
-1 0 7 o -if T |- 0 . are equal, then which one of the

following is correct?
- then which one of the following is

not correct?

{fa) 2b=a+c
fa) A2 =pB2 (b) b2 = ac
(b) B? =C? (c) b+c=2a
{c) AB=C : (d) b=ac
(d) AB= BA

12. What is the maximum number of
straight lines that can be drawn
with any four points in a plane such

~ that each line contains at least two
of these points?

9. If logzllogs(logs x]]=1logs 3, then
what is the value of x? '

(@) 3 (a) 2
(b} 27 (b) 4
() 3% : (c) 6
(d 3% (d) 12

P-PFC-K-QOC/25A 4




[\Pj waﬁm;f

fa) -1
(b) ©

@ 1

fd) 2

3

a3 o oelo Seela
ﬁm%@aﬁaﬁqmwnﬁaﬁ%?
(a) A2 =__B2
(b) B*=C?
€ AB=C

(d) AB= BA

9, ﬂﬁ(logs[logs[log3x]] logs 3, ﬂx‘ab‘l
A F 37

{a) 3
(b) 27
) 3°

() 3%

P-PFC-K-OC/25A

10. IR © TH W WY TR 3, @

" 0'© +m1°mﬁﬁaamﬂ%?
@ 2 |

(b} -1
) -2

@1

11, I g
(@2 + b%)x2 -2bla+c)x + (b2 +c%) =0

¥ @ wow &, @ Pk d @
j_ﬁ#—m@i@%?

(@) 2b=a+c
(b) b? =ac
fc¢0 b+tc=2a

(d) b=ac

12, Us goaa # fed 9 fagedt & wy &

. R Aoy YRl i siftman Jen
TN %, wfE TS Wiod T R

HH-Q-H0 a’l_ﬁ%ﬂ»‘dﬁ'ﬁﬁ?
(@) 2

‘(b) 4

(c) 6

(d) 12 "

[P.T.O.




13. If

6i -3i 1
x+iy=|4 3 -1
20 3 i

then what is x - iy equal to?

(@) 3+i
(b) 1+3i
fc} 3i
(d 0
14. If |A] = 8, where A is a square matrix

of order 3, then what is [adj A|equal
to? -

(@ 16
{(b) 24
(c) 64 v
(d) 512
15. What is the  binary' number

equivalent of the decimal number
32252

(@) 100010-10
(b) 100000-10
{c) 100010-01

{d) 100000-01

P-PFC-K-OC/25A

16. If A and Bare two disjoint sets, then
which one of the following is
correct?

fa) A-B=A-(ANB)
(b} B-A'=BnA
(c/ AnB={A-B)nB
(d} All of the abave
17. Consider the following statements in

-respect of a square matrix A and
its transpose AT :

1. A+AT is always symmetric.

2. A-AT  is  always anti-
symmetric.

Which of the statements given
above is/are correct?

fa} 1 only
(b} 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2




13. 12

6i -3i 1
x+iy=4 3 -1
20 3 i

@ x — fy 1 AH 47 87
fa) 3+i

(b) 1+3i

) 3i

(d 0 -

14, IR |A|=8, F@ A ®f 3 = w @l
R B, A |adj A} frat & =R 87

fa) 16
(b} 24
{c} 64

(d} 512

15, e Hew 3225 % gg fR-amud
e w27

faj 100010-10
(b} 100000-10
fc} 10001001

(d) 10000001

P-PFC-K-OC/25A

16, AR A I B A owEgem =y .H, @

frfefaa 4 § wR- o 7 27

{fa) A-B=A-(AnB)

(h) B-A'=BnA

) AnB={A-B)nB

(d) I st

17. W T 3o A 3 3a% ofed AT &

= i fFrefafaa suat w fomm fifm
1. A+AT = i R)

2. A-AT g vfowafia €

Iqgth weEl § A B-ar/ g ¥/
@ Fae 1

(b) AW 2

{g) 1323

@ FAd1aad2

[P.T.O.




18. If o and § are the roots of the
equation x? ~2x +4 = 0, then what
is the value of a3 +p3?

fa) 16
{b) -16
(c/ 8

(d) -8

19. What is the value of (~1+iv3)*?
(a) 1
(b} 2
{c) 224

(d] 248

20. If a matrix A is such that
34% +2A% +54+1=0
then what is A~} equal to?

(@) -(3A% +24+5)
(b} 342 +2A+ 5]
€ 3A2-2A-5]

{(d} -(34% +2A+5I)

P-PFC-K-OC/25A

21. What is the sum of all the
coefficients in the expansion of
(1+x)"?

(@) 2"

(b) 2" -1
(c) 2n-!
@ 2n-1

22, Let N denote the set of natural
numbers and A={n?:ne N} and

B={n®.ne N}. Which one of the

following is correct?
fa)] AuB=N

{b) The complement of (AU B) is
an infinite set

{c) An B must be a finite set

{d) An Bmust be a proper subset
cof (m® :me N}

23. Which of the following are the
two roots of the equation
(x? +2)%2 + 8x2 = 6x(x2 +2)?
fa) 1%i
(b} 2ti
(c) 1xv2

(d) 2+iv2




18, IR o o p it x2 -2x+4=0%F
‘g g, ol +pd A R

(@) 16
(b) -16
() 8

(d} -8

19. (-1+i/3)48 @1 oA =0 87

fa) 1
(b} 2
(C} 224

{d}- 248 )

20. aR ©wE AR A wW- § Bk

3A% +2A2 +5A+1=0, A A} R

%;m%?

(@) -(3A% +2A+5)
(b) 3A2 +2A+5I
() 3A%2-2A-5I

(d) -(3A% +2A+5I)

P-PFC-K-OC/254A

2
(a)
(b)
(c)
(d)

21, (1+x)" % YR 8 &ff el 1 9w w0

2n - 1)

22, mA dife & N yFhE dEed.. s
e W AOfm s R el WH
Wi  f6 A={n%:ne N} am
Bz{nszneN}. fefafge 4 @
FH-T TH E BT

(a)
()
(c)
(d)

AuB=N
(AU B) F T T 31 9= ©
AN BIaW & w aRim ag=a §

AnB IEE & (m8:me N} ®
wF 3fra STagEA R

23.{ ﬁmﬁaﬁaj T § 3-8, g

. (JC2

+2)2 +8x2 = 6x(x2 +2)

L& A 9w §7

(a}
(b)
(c)
(d)

[P.T.O.




24. What is the coefficient of x* in the

N2
expansion 01‘(1 x) ?

1+x
() -16
(b} 16
fc) 8

[d -8

"25. If @ and B are the roots of the

equation x2 + x+ 1= 0, then which

of the following are the roots of the
equation x? -x+1=07

fa) a’ and p!3

(b) .«!3 and 7

(C) (120 and ﬁ20

{d} None of the above

26. A square is drawn by joining mid-

points of the sides of a square.
Another square is drawn inside
the second square in the same
way and the process is continued
indefinitely. If the side of the first
square is 16 cm, then what is the
sum of the areas of all the squares?

{a} 256 sq. cm
(b) 512 sg. cm
{c) 1024 sq. cm

(d) 512/3 sq. cm

P-PFC-K-OC/25A

27. Let A and B be matrices of order

3x3. If AB=0, then which of the
following can be concluded?

fa) A=0and B=0
() |Al=0and|B|=0
{c} Either |[A|=0o0r |B|=0

{d) Either A=QOor B=0

28. The sum of an infinite geometric

progression is 6. If the sum of the
first two terms is 9/2, then what is
the first term?

fa) 1
(b) 5/"2
{fc) 3 or3/2

{d 9or3

29. If A is a square matrix, then what is

adj AT -fadj A}7 equal to?
(aj 21A|

(b} 2|AlI

{c) Null matrix

(d) Unit matrix

30. Which one of the following is correct?

{aj sinl®°>sinl
(b} sinl® <sinl
(¢} sinl° =sinl

(d) sinl’=——sin1
180




24. (

L*_{jgaamﬁx“mﬁwi%w%?

1+ x
(@ -16
(b) 16
(c) 8

(d) -8

25. AR o 3P wllFW x2 + x+1=0% &

g, ‘cﬁﬁﬂ%@ﬁﬁﬁﬁ?ﬁwﬁm

X2 -x+1=0F A

{a) (1.7 3?!'( BIS
(b) 0,.13 Sﬂ'{ [37
(c} (120 3ﬂt BQO

(d) I A [ g

26. TF a1l H il & Ae-Rrged = e

- e @ T ol s R e @) -3
e qEt A F ffe ww o wl amfd
forn st § ofi = wfn afRiim wm

" S et S @1 IR T o A e

16 Ro o 8, @ wft =l &% dorat
A F BT

fa) 256 T "o He
(b) 512 @ o Hio

(o) 1024 f Fo Mo

(d) 512/3 a1 Wo o

P-PFC-K-OC/25A

27, T T A 3k B AR 3x3 & R
R aB=0, @ fwfafes # 3
Fr-a1 Fred frren s g 27

(g A=03M B=0
() |Al=03|B|=0
c) TMA|A|=01|B{=0

(d) MAA=0T B=0

28. T I o A A 6 B AR T
aqﬁ-mﬁng/z%,amqaw%?

Cfa) 1
b} 5/2
(c) 379 3/2

{d}. 93 3

29 | A @ T amR @
“adj AT - (adj A)T FFm & SR R7

{a) Z2|Al
®) 21AII
() T ST
(@) T
30. _ﬁnrﬁ—rﬁqaﬁﬁﬁ?-mt{%ﬁﬁ%?.
(@) sin®®>sinl |
(b) sinl® <sinl
(&) " sinl° =sinl

(d) sinl®=—"—sinl
-7 180

[P.T.O.




31. One of the angles of a triangle is 34. What is
1/2 radian and the other is 99°, . 180
What is the third angle in radian ( sec18 4 205 )

secl44® cosecldaq®

measure?
9n~10 equal to?
(a)
(a) secl&
90n - 100
(b} ————
7n , {b) cosec18®
{c) M | (c] ~sec1g&
b4

(d) —cosecl1&
(d) None of the above .

35. If o and P are positive angles such

32. Two poles are 10 m and 20 m high. n
that a +f = e then what is

The line joining their tops makes an

.angle of 15° with the horizontal.
What is the approximate distance
between the poles?

{i+tano)(l+ ténB)

equal to?
fa) 353 m
@ O
(b) 373 m
(b} 1
fcg 41 m
‘ {c) 2
(d 44 m
(d} 3
33. What is the value of 1
sin'l-% +2tan-11 2 36. What is the value of
3
© (8in 50° - sin 70° + sin 10°) ?
T
@ 3 (@) 1
T 1.
(b} = b) —
s
€@ 3 @ B
2
A
dr = )
(@ 6 {d} 0

P-PFC-K-OC/25A - 12




31. & B & ol # @ wE w172 W sec18  cosecl8 :
1 ¥ ol ggu 99° & &) UWem wm # 34 | Sec1aa® ' cosec1ad® ot & wo=
et For fra 27 27
(a) 10 | (a) sec18°J
) 90117“ 100 (b) cosecl®
FLA

90m — 10 (c) -secl®

@ 221

(d) —cosecl8®
(d) STE A | BIE

35. g} o 3 B W T Fw T
32, aﬁmﬁlorﬁoaﬁxzoﬁioﬁ%lﬁ

=T
ot A e arelt Yo Tl A 1se W a+B—4,?h(1+tana){1+tanﬁ)ﬁmﬂ
-W%W%I@nﬁ%aﬁawﬁﬁ-ﬁ % U 37
gl 27
{a) 353 o | fa} 0
(b 37370 (b} 1
(c) 41do : fc) 2
(d) 44 e - _ (@ 3
33. sin-1 2 4 2tan1 2 w1 7w Ree 27 36. (sin50° -sin70° +sinl0®) & WX
o ° ] faraar 87
T
{a) 3 @ 1
2 1
(b) 3 ) 1
n
(c) Z " iz_.s_
n
“ % (d o

P-PFC-K-OC/25A 13 {P.T. Q.




37. If

-

cosA+cosB=m
sinA+sinB=n

where m, n#0, then what is
sin(A + B} equal to?

(a) 55

AN

b)) ——

{c}

% (d)

38. If y=sec?8+cos? 0, where 0 <8 < %’

then which one of the following is
correct?

faj y=0
(b} Osy<2
f¢) yz2

(d) None of the above

39. If tanA=3/4 and 'tanB=-12/5,
then how many values can
cot(A - B) have depending on the
actual values of A and B?

(al 1
(b) 2
fc) 3

(d) 4

.P-PFC-K-OC/25A
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40. What is the value .of

sin15°sin75°?
fa) 1/4
(b) 1/8
{c) 1/16
{d) 1
41. What is thle equation to the straight

line joining the origin to the point of
intersection of the lines

+

Q%

o e

=1 and 2+¥-19
b a

faj x+y=0

(b} x+y+1=0;.

¢ x-y=0

(dl x+y+2=0

42. What is the equation to circle which
touches both the axes and has
centre on the line x+y=47?

(@ x?+y?-4x+4y+4=0
(b) x?+y?-4x-4y+4=0
e} x2+y? +4x-4y-4=0

(M) x?+y°+4x+4y~-4=0




cosA+cosB=m
sinA+sinB=n

W& m, n=0, o sin{A+ B) frem &
U 37

(@ ———

(b) —

{c)

(d)

38, aR y=sec?+cos2 0, W&l 0<e<-’§,
A Pt # 4 BF-a T wd 27
fa) y=0

) 0sys2
fcg y=z2

(d) IHE A | B A

39, R tanA=3/4 MM tanB=-12/5, @
A 3 B F Il AWl W Ui
cot(A - B) % e wH & wehd §7

fal 1
{b) 2
{c) 3

(d) 4

P-PFC-K-OC/25A 15

40. sin15° sin75° %1 AH ¥ 27
(@) 1/4
(b) 1/8
) 1/16

(dj 1

41, g = el f+%=1 afk
ad

%4 Yoy i shed-frg @ e et
Ty TET 1 Gt 0 27

fa) x+y=0
(b) x+y+1=0
fcg x-y=0

fd) x+y+2=0

42, W 9 = whew @ R, @ A A R’
Wy W & oo fmw I oW
x+y=4 WE?

(@) x2+y?-4x+4y+4=0
() x2+y?-4x-4y+4=0

(c) x2 +y2 +4x-4y-4=0

(d) x?+y®>+4x+4y~4=0

[P.T. O.




43. If the position vector of a point P with 46. The two planes ax+by+cz+d=0

respect to origin Ois i + 3} -2k and and ax+by+cz+d =0, where
that of a point Qis 3{ + j - 2%, then d #d,, have
what is the position vector of the
bisector of the angle POQ? fa) one point only in common
a) i-j-k
@ t-j (b) three points in common
(b) i+]-k
(¢} infinite points in common
{c)- +k

fd) no points in common
(d} None of the above

44. If the straight lines x-2y=0 and 47. A point P moves such that the
kx+y=1 intersect at the point difference of its distances from two
(1, l], then what is the value of k? given points (¢ 0) and (-g 0) is

2 constant. What is the locus of the
point P? '

(@) 1 '
(b} 2 7 : {a) Circle
(c) 1/2 {b) Ellipse
(d) -1/2

{c) Hyperbola

45, Let g, b and ¢ be the distinct non-
negative numbers. If the vectors (d) Parabola
al+aj+ck, [+Kk, ci+cj+bk lie
on a plane, then which one of the .
following is correct? 48. What is the distance of the origin

from the plane 2x+6y-3z+7=07?
{a) c is the arithmetic mean of

a and b (@ 1
(b) c is the geometric mean of

aand b (b) 2
{¢/ c¢ is the harmonic mean of © 3

aand b
{d) cis equal to zero (di 6

P-PFC-K-OC/25A 16




]

43, MR geg oF v § @ g P
farfy aftm {+3j-2k ST fg Q
w1 forfy afem 3i+j-26 2, @ &
POQ % fowrrs w1 Teafy afw «m 27

@ i-j-k
m) i+j-k
fo) i+j+k

(d) s § & w T

44, aﬁﬁ‘t@mx 2y=0 ¥R kx+y=1
ﬁ"s;(l,g]mmeﬁ%?hkmnmw

27

(@) 1
(b} 2
¢ 1/2

(d) -1/2

45, 7 R 6 o, b IR ¢ i Fo@
ded 21l oW ai +af+ ok, 1+E,
cfij+pk ™ wmow wOE, @
fraffaa § @ - & @ 87

L)

(@) cTHRI ATA § a $IT b
(b) c TR T § o 3R b
(c) cBUHF U B o 3 b H

(d) cTMRETI® Y

. P_PFC-K-OC/25A 17

46. € FHAA!

‘axt+by+cz+d=0
ax+byt+cz+d) =0

| SEidzd,, &

@) o 6 g vt
(b) i fag 3wafim B

c) = farg wmalm €

(d) + forg s 7

i

47. F frg P 7a o R axa & P A o

frgatl (g 0) 3 (¢ 0) ¥ Twh Pt
w1 =R W ¥ g P @ fagry =
27

fa) 9
(b) g
(c) wfqutaed

(d) T

48, Tofeg =i, AWAA 2x + 6y~ 3z+7= 0

3, frel 30 47
(@ 1
(b) 2
fe) 3

(dj 6

[P.T. O.




49. FORS is a parallelogram, where
- ke o) 2 = -
PQ =3i+2j-mk, PS=i+3j+k
and the area of the parallelogram
is ¥90. What is the value of m?
@) 1
b) -1
fc) 2

[d -2

50. What is the vector equally inclined
to the vectors i + 3] and 3i+ j?

(@) i+j -
) 2i-j
) 20+]

{d) None of the above

—_
S1. ABCD is a quadrilateral. Forces AB,

—_— — -—
CB, CD and DA act along its sides.
What is their resultant?

{a) 2CD
(b) 2 DA
(c) 2 BC
@ 2CB

P-PFC-K-OC/25A
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52. Under
conditions does a general second-
degree equation

which of the following

ax? + 2hxy+ by? +2gx +2fy+c=0a# 0)

represent a circle?

fa) h=g a=b
) h=g=f,a=b .

fcg h=0 a=b

(A h=0,g*>+f%2-c=a+b

53. What is the area of a triangle whose
vertices are at (3, -12), (L -1 - 3)
and (4, -3, 1)? :

V165

{a) 5

(p) ¥L35 1235

(c) 4
d 2

S4. What is the value of b such that the
scalar product of the'vector { + j + £

with the unit vector parallel to the
sum of the vectors 25 +4] -5k and

bi +2f+ 3k is unity?
{a) -2

(b} -1~

fc) ©

{d




49. PORS W Wik e ®, 52. Prafifae whemdt & @ fe & F W@,

PO =3i+2}-mk, PS=i+3j+k o e et wE

sft R agdE W &wa 90 B ax? +2hxy+ by? +2gx +2fy+c=0(a # Q)
m W1 AF T 37 w5 7 B 7

@ 1 (@) h=g a=b

) -1 (9 h=g=f,a=b

e} 2 | ) h=0a=b

(d) -2 | (d) h=0 g2+f2-c=a+h

50. ufst {43} 3K 3+ ] = ww@ wlew 53. mﬁaammw% s wfid

T 37 (3-12), (L-1-3) M@ -3 1) =
87
(@ i+]
J165
fa =
(b) 2i-] 2
e 2i+] , (b ¥135
) 2
(@) I 3 QA A - © 4

(d) 2

1. ABCD U v« &1 7@ AB, CB, CD : .
sk DA wud ysit H R # wriw 54. b W W N ¥ ARW [+ ek B

" &) e ftored = 27 afewt 2 +4 -5k 3 b +27+ 3k &
I & WA 3R ofem @, wiw
(@) 2CD ' OE T 87
—_— (a) -2
(b) 2 DA
_ b -1 -
¢ 2 BC o o
@@ 2CB @ 1
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55. If the latus rectum of an ellipse is
equal to half its minor axis, then
what is its eccentricity?

(@)

&

(b)

(c)

o[

| {d)

-

| 56. If A={2 3}, B={4, 5}, C= {5, 6}, then
i what is the number of elements in
‘ Ax(Bn(C)?

; () 2

(b) 4
‘ ] 6.
| (d) 8

57. What is the slope of the
perpendicular to the line

Xi¥ogo

4 3

line

3.
(a) Z
B) -

4
{c) "3 =

d

W
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58. ABC is a triangle in which. BC=
10 cm, CA=6 cm and AB=8 cm.
Which one of the following is

correct?

{a) ABCis an acute-angled triangle

(b) ABC is an obtuse-angled
triangle

4

fc}] ABC is a right-angled triangle
(d)

Nene of the above

59. If the AM and GM between two
numbers are in the ratio m: n, then
what is the ratio between the two

numbers?

@) m+Vym?2 —n2
m-+vm? -n?
m+n

{bj
m-n
m?2 - n2

€ ————> >
m<-+n

(d) m2 +n? - mn
m?2 +n? 4 nin

60. Consider the function'f: R — {0,.1}
such. that
' 1 if x is rational
f (x)={0 if x is irrational

Which one of the following is
correct?

fa) The function is one-one into
(b} The function is many-one into

{c) The function is one-one onto

{d) The function is many-one onto




55. 9k & ddgm F Tivera I[wF qY HE
1 ST B, q I ezl F1 27

1
m)a

x

(b}

(c/

°|&

(d)

-

56. AR A={2 3}, B={4, 5, C=1{5 6}, @
Ax(BNC) T sauat il g& w1 87

(a) 2
(b) 4
fc} 6

(d) 8

57. m%@ﬁwm%,a’t‘t@g+%=1
& o 87

3
(a) 2
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S8. ABC U fyE 2, st BC = 10 %o flo,

CA=6 o Mo 3 AB=8 @o o]
frferfea & & #19-7 o @ @7

(a) ABC T& i = 3
(b) ABC T it o = @
(c) ABC T wuarfd fig= @
(@) IEH A HE A

59. af} & wemall & W= mey 3 U

WA m:n® g A E @ F QD
st & fi9 agaE = Y

m+Vm?2 - n?
m—\!mz -n.2

m+n
m-inmn -

(a)

()

m2 —1"12

(c)

m2+n

60. a4 f:R— {0 1} W fa=w Fifiw,

¥ fo

1 aft xafma g
f(x)={0 7fd x smafarm 8

frafafiea § @ «9-w o odt @7
{a) T U ST ¥
(b) FTH TG-TH FEN @
{c) e THH ST R
(d) O TE-TE AL B

[P.T. O,




61. If f(x)=2x+7 and g{x)=x2+7,

x€ R, then what are the values
of x for which fog(x)=25?

fag -1, 1
(b} —21 2
) -2, 2

(d} None of the above

62. What does the differential equation

' y%—-&- x =k (k is any constant)

represent?

fa) A family of circles having
centre on the yaxis

(b} A family of circles having
centre on the x-axis

f¢) A family of circles touching the
x-axis

(d) A family of ellipses

P-PFC-K-OC/25A
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63. What is the area of the region
bounded by the curve

2
f(x1=1-i‘4—, xe[-22]

and the x-axis?

(a) 8/3 square units
(b} 4/3 square units
fc) 2/3 square unit

{d) 1/3 square unit

64. What is

. a*-b*
lim
x—=0 X

equal to?

(@) In(ab)

Ina

{b) ob

o o)
o o)




61, TR flx)=2x+7 3 -gx)=x?+7, 63. TF . .
xeR @ x ¥ -0 um § fss fog 2
fogix)=257 o f(xl=1‘T:xe[‘22]

A x-ag F T oREE &9 W ATwe
@ -1, 1 T 87 :
(a) 8/3 4 TR
(b.) -2:2
L (B 43T R,
{C) _ﬁ, ‘\/5 . [T
(c) 2/3 7 g
(d) ITE A A FE
(d) 1/3 1 g0

62. 3% Wi y-g—xy-+x=k (k = 64. lizﬁoax;bx fora & s 27

s 8) w Frefa st 27 | L
(a) ln(ab)

(o) & TN-F Bk R y:awa o E

) 22
. s Inb
(b) UF Te-Hod P % -9 W E .
a
(c) x¥&8 # WH FTE FA TH | fe IH{E)
[-gd :
.
d) InfZ
(d) F egy-Fa (@) "(a]
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65. If Vx+./[y=2, then what is gx@ at

y=1equal to?
a) 5
() 2
(c) 4

(@ -1

66. For a point of inflection of y= f(x),
which one of the followmg is
correct?

gy must be zero
dx

(a)

2

(b} 4’y must be zero
dx2

dy .
¢} — must be non-zero
(e dx

o

(d) %22 must be non-zero

67. If the function
x(x 2)

. X # 12

fg=

is continuous at x =2, then what
is f(2) equal to?

{a) 0O
(b)
(¢ 1

@ 2

1/2
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68. If x =cos(2t) and y = sin? ¢, theén what

2 .
is -gx—g equal to?

fa} O
(b} sin(2t
fc) ~cos(2t)

{d) -1/2

69. What is the value of p for which the
function

sin 3x

Slx) = psinx +

has an extremum at x = 131-?

(@) 0O
b 1
@ -1

(d) 2

70. What is the value of the integral

Ellxldx?
fa) 1
(b) 0

{c) 2

(d -1




S

65. R Jx +Jy=2, @ y:l‘ﬂ-j—iiﬁl'ﬂﬂ

68 i x = cos{2t) M y= sin? t, '(ﬁ

dxz
e FaAFwmer

@ s @ o |

() 2 (b) sin(2f)

4 {c} -cos(2t)

@ -1 d. -1/2

66yf(x)%=f%tr&a?hﬁ§%m

frraferfea & @ S9-w s T &7 69. p 1 F1 §M 3, Fas e we=
. . sin 3x
(@) %Wﬁiﬁ% fix)= psinx +
(b} d? ' x = g @WT@HT%?
y
Fmﬁﬁw%
' _ @ ©
) 9y 5 .
dxm%"l@m% ® 1
@) d?y . . © -1
Z2 e AmmE |
' - (d) 2
67. IR wem f(x):x(x'i}, x#%2, x=2
x —

o 70. Wt [ (x|dx w1 A TR
. A g, 6 f£(2) Prad & e 37 : -1 _

(@) O (@ 1
() 1/2 S ) ©
fcj 1 {c) 2
(d) 2 o ' | (d) -1
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71.. What is the differential equation to 74. If at any instant t, for a sphere, r

family of parabolas having their A denotes the radius, S denotes the
vertices at the origin and foci on the surface area and V denotes the
x-axis? volume, then what is %:I equal to?
() y=2xy L d
{a) _‘S_I
(b) x=2yy’ 2 dt
) xy=y ' 1 dS
—_—
) 2 dt
d) x=yy
] (c) r-d;s
72. At how many points is the function dt
flx) =[x] discontinuous?, o
1 2 dS
{a) 1 (d) 2
(b) 2
fc) 3
(d) Infinite )
75. I
. 2 .3
73. What is f(x)=§x+-2—, xeR
,[ e*(1+ x) do .
=74 . oae : 5
cos2 (xe*) then what is f~(x) equal to?
equal to?
(@) —x+=
fa) xe* +c -
39
X —_— -
b} cos(xe*)+c | {b) 5% 73
) tan(xe*)+c 4
{C} —X - —9-
(d} xcosec(xe*}+c
where ¢ is a consta.ll'lt of (d) 2,2

integration.
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71. I TEAE-Fel F1 A THHW T 2,
o ol qeferg m 8 ofk ofml x-w
o #7
) y=2xy’
(b) x=2yy

€ xy=y'

{d) x=yy

72. = fix) = [x] Fran frgatt w ardaq &7
fa) 1
(b) 2
¢ 3

(d} IF=l

73. -[de o % T 27
cos? (xe*X)

fa) xe* +c
(b) cos(xe*}+c
fc) tan(xeX)+c

{d} xcosec(xe*)+c

HE ¢ T gHTEwH -3 B
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74, 3R fER aw ¢ w, fef e ¥ fag, o

g wa R ederm, s gfm w g
g¥ daea o V gfua R § eI,

ﬁl%%ﬂ%%ﬁmﬁ?
@ r2
75. af

2 3
X==x+—, xe R
fix) 3%5%5

@ ol x) Fea & R 77

@ Zx+2
(b) %x—g
@ 2x-3
9 32

[P.T.O.




"~ 76. What is the interval over which the
function f(x)=6x-x%, x>0 is
increasing?
fa) (0, 3)

(b) (3, 6)
{c) (6,9

{d) None of the above

77. What is [Vxe'*dx equal to?
(a) Ze&(x—2{5+2]+c
) 2eV*(x+2Jx +2) +¢
(0 2e"*(x+2yx -2 +c

{d) 2e‘/;(x—-2ﬁ-2)+c

where ¢ is & constant of
integration.

78. What is the degree of the differential
equation

2
(1_*__(1__{,*.)4:{@] ?
dx dx?
(a) 1
(b) 2

(c) 4

{d) 8

P-PFC-K-OC/25A

8l. If f and g are two increasing

79. What is the general solution of

(1+e*)ydy = e*dx ?

(@) y? =In[c?(e* +1)?]
(b} y=In[cle* +1))
(¢} y* =In[cle* +1)]

(d) None of the above

where ¢ is a constant of
integration.

80. What is the value of

In/4 dx >
®/6 sin xcos x
fa) 2In3

(b) In3

fc) 2In3

fd} 4ln3

functions such that f o g is defined,
then which one of the following is
correct?

{a) fog is always an increasing
function

(b) fog is always a decreasing
function

{c} fog is neither an increasing
nor a decreasing function

(d} None of the above




76. fFE A W ®eH  f(x) = 6x - x2, 79. {1+ e*)ydy = e*dx 1 UH g 1 87

x > O aLfurT 87 )
(@ y> =In[c2(e‘-" + 1)2]

fa) (0, 3)
fb) y=In[cle™ +1)] f

(b} (3, 6)

{c) .(6 9) . fc) y2 =In[efe® + 1)} |

(d) SHwAAFE T - (d) ITE & R A T \

Sl ¢ T G-I Bl

77, [JF e o b awm 47

80. [/ & __ quman ¥
{a) 2e’E_(x—2JE+2)+c n/6 sinxcosx .
(b) 2eF(x+2/x+2+c . (a) 2In+3 .
(b)) InJ3
) 2eV¥(x+2/x-2+c P |
: . ) 2In3 )
() 2eV*x-2/x-2+c
(d) 4In3

el ¢ T Y- B!

81, AR £t g D Fvwm wem &, &9 TR 5

2
7s.aaa:amm(1+%)4={£g} - fog whomfr B, @ Frfufas & @

dx? FH-A T T R7 ‘

ord &1 87 ' \ N T .

« (@) fog TR TH TUAHE B 2

1
“ (b} fog THI TF MM FR 2.
(b) 2 - :
’ ' (€ fog T aduH 3k 7 H gEwA

(e} 4 _ | . HEA ® .
(@) & (d) I & B B Tl
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82. What is the value of i
Pef-e
o {51
(b) efe-1
fc) e-=~
{d) O

83. Which one of the following is the
differential equation to. family of
circles having centre at the origin?

' 2,29y _
@ 2 -yP oy
() (x2+y2)§xy-=2xy‘

(© % = (x? +y?)

(d) xdx+ydy=0

(2

84. What is the area under ‘the curve
fx) = xe* above the x-axis and
between the lines x =0 and x=1?
fa) 1/2 square unit
{b) 1 square unit

fc) 3/2 square units

(d) 2 square units .
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85. What does the solution of the
differential equation

dx

represent?

-

fa) Family of straight lines
through the origin .

(b} Family of circles with their
centres at the origin

{¢) Family of parabolas with their
vertices at the origin

{d) Family of straight lines having

slope 1 and not passing
through the origin

86. What is the coefficient of x17 in the
expansion of

' 9
[Sx—ﬁ]' ?
6
a) 189/8
(b} 567/2

) 21/16

{(d) None of the above

87. What is the derivative of sin? x with
respect to cos? x ? '

{a) tan®x
(b) cot? x
) -1
(d 1

P




‘82, 2 ox —l-——l— dx 1 HA T 87
- x x2 : s

o o3
() ele-1

) e--
€ ¢

(d} 0.

83. F=fafee & @ FF-u1 T, JEleg W3
| A FA-FeT 1 AeHel AHIHW 7

@ (x? —yz)% = 2xy
() (x? +y2}%=2xy

@ Loy

{d} xdx+ydy=0

84. % f(x) = xeX & FAld, x-3NF & IW
Mm@t x=0dW x=1% 9 =
Swe fra 27
(@) 1/2 a1 51
(b} 1 =i gard
() 3/2 =1 5

(d) 2@ &g
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85. IEww x%:y i SRk
. ﬂf i b A S
frefea s g7

(o) weiferg B oA T wY W-Fa
(b) ARG R &R A JA-FA
(c) e W v aren waea-ga

(d) VEUEl 1 e Eg @-Fe s
et | T e

86. [3,:_%]% ¥ Al F x17 = W:ﬁﬂ
&7
(a) 189/8
(b) 567/2
€ 21/16

(d) 390 & & & T

87. cos? x ¥ U sin? x @ JFHAA

2e
(@) tan®x
h) cot?x -+ .

fcj -1

@ 1

{P.T.O.




88,

égl

90.

Consider the following statements :

1. fix)=|x-3| is continuous at
x =0,

2. fix}=1x-3|is differentiable at
x=0

Which of the statements given
above is/are correct? '

{a} 1 only
(5) 2 only
(¢ Both 1 and 2

{d} Neither 1 nor 2

What is {1111), +{1001), ~(1010),
equal to? ‘

() (111),
(b) (1100},
(€ (1110},

(d) (1010},

sinf+1
cosf

What is

equal to?

sinb +cos6-1
sin@+cosB +1

(a)

sin® +cosf+1
sin@+cosf -1

(b)

sinG-cos8-1
sin@+cosf +1

(c)

sinf -cos0 +1
sin9+cosf -1

(d)

P-PFC-K-OC/25A

91. From the tep of a lighthouse 120 m
above the sea, the angle “of
depression of a boat is 15°, What is
the distance of the boat from the
lighthouse?

(@) 400 m
() 421 m
() 444 m
(d) 460 m

92. What is the value of

sin® +cosd - tan6" -
secH + cosecB - cotB

whenB:éﬁ?
4

faj O
h) 1
fe) -1

{d) None of the above

93. What is the value of sin 292-%“?

(@) %\/2+J§
(b) -%wf -3
@ 32+

(d) -%,}2«/5

32




88. Frfeifign wuat w faawr Hifdm -
1. f(x)=|x-3} x=0Wa<aa g

2. flx)={x-3|, x =0T JTHeHA
!

I FU A @ Be-a/R wh /8
(@) Fa 1

(b) F 2

e} 1 3R 23E

(d) @ 13Mad2

89. (1111), +(1001), ~(1010), fFm

T BT

faj (111),
(b} (1100},
(c) (1110),

(d} (1010),

90. SNO* 1oy & auran 27
cos@

sin@+cosb-1
sinf+cosf+1

(a)

sinf+cosf +1
sin@+cos8-1

(b)

sinB8-cos8-1
s5in® +cosb+1

{c}

sinB-cosf+1
sin® +cos0 -1

{d)
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91, WX T § 120 Hio I TF ARERE &
M ¥ T A O 15° )
AgeRTeH A T i g R 27

fa) 400 Ho
(b} 421 Ho
fc} 444 Mo

(d} 460 Ho

92, aae:f;ﬁ,a‘r

sin® +cosb —tand
secO 4+ cosecH - cotb

T WA 27

(@) ©

®) 1

fc -1

(d) 3% 3 & T 7

93. sin2921° % WA =1 g7

a) -;: 2+v3
1

(b) -3 2-J3

{c) %J2+J§

(d) —%\/2+J§

[P.T.O.




94, What is Isec" xtanxdx equal to? 97. What is the number of signals that
can be sent by 6 flags of different
colours taking one or more at a

n
{a) € X e time?
n
faj 21
sec” ! x
b) ———+
{b) 1 *° (b} 63
fc) 720
n
(c) tan™ x +c
n (d) 1956
tan™"! x
(d) Qo1 +c 98. In how many ways can a committee
n.—-

consisting of 3 men and 2 women

) be formed from 7 men and
where ¢ is a constant of

5 women?
integration.
(a) 45
95. What is the area bounded by the (b) 350
curve y= x? and the line y=16?
(c} 700
a) 32/3
(@) / {d) 4200
{b) 64/3
99, If
(c) 256/3
a=i-k
(@) 128/3 b =xi+j+(1-xk
C=yl+x+(1+x-y)k

96, What is the number of terms in the

=5 T
expansion of (a+b+¢)*, ne N? then a-{b x ¢) depends on
fa) n+1 fa) x only
(b) n+2 (b) y only
{c) nin+1) () both x and y
(d) (n+1}{n+2)/2 (d] neither x nor y
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94, J'sec’f xtanxdx e & e 37

sec x
+c
n

{a}

sec" 1 x

n-1

+cC

{b)

tan” x
n

fc)

+c

tan® ! x

n-1

(d)

+ e

Tt ¢ T WS B

95. % y= x2 R @ y=16 T fEg
aee fraa 27

fa) 32/3,
(b) 6473
(c) 256/3
(d)  128/3

96. (a+b+c)?,
T FT RY

ne N & WoR ® @& &
Cfa) n+l

(b} n+2

(c) nin+1)

{d) (n+1)(n+2)/2
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97. fifim T % 6 Fvel 3m, TN & & A
maﬁ‘gq,ﬁéwmﬁaﬁqéﬁﬁaﬁ
e @ 87

fa}) 21
(b} 63
fc) 720

(d) 1956

93 7 e Sf 5 s & & 3 gedt e
zaﬁﬁ?aﬁ@m@aﬁﬁfﬁmmﬁ
.ﬂ%ﬁﬁmm%?

(a) 45
(b} 350
fc) 700

(d} 4200

99, Tt

o

[}
oy

’ |

X+ J4(1- x)k
yf+xj+(1+x y)k

o) T 2l
Il

H

¥

R Z-(bx2) ha
(@) FEH x T
(b} aﬁ?‘lym
(c) x3N yARA W

(@) TN xVWA YW

| P.T. O.




100. What is the probability of having

53 Sundays or 53 Mondays in a
leap year? oo

(a) 2/7
(b} 3/7
fc) 4/7

(d4) S/7

101, Three digital numbers are formed

using the digits 0, 2, 4, 6, -8.
A number is chosen at random out
of these numbers, What is the
probability that the number has the
same digits?

fa) 1/16
(b) 1/'25 .
(c) 16725
(d) 1/645

102, What is the mean deviation of the

data 2, 9,9, 3, 6, 9, 47
{a) 223
{b) 257
(c) 323

(d) 357+

P-PFC-K-QC/25A
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103, A set of n values. X1y Xo, ey X has

standard deviation o. What is the
standard deviation of n values
X, +k xo 4Kk, ., xp +k7?

{a) o
(b} a+k
{c/ o-k '

(d) ko

104. The two lines of regression are

8x~10y =66 and 40x-18y =214,
and variance of x series is 9.
What is the standard deviation of
y series?

(@ 3
(o) 4
€/ 6

(d) 8

105, The standard deviation of some

consecutive integers is found to
be 2. Which of the following
statements best describes the
nature of the consecutive integers?

{a) The integers are any set of
eight consecutive integers

(b} The integers are any set of
eight consecutive positive
integers

(¢ The integers are any set of
seven consecutive integers

{d} None of the above.




100. % >ftEd (leap year) § 53 Uamd am
53 HvaRt % B <kt sfreha 7 /7

@ 2/7
b) 377
fc) 4/7

(d) 5/7

101, 3 0, 2, 4, 6, 8 T WM F A
st wead 7 St 81 3 wensd A
} agfosed: T Te g I R W
e o 3 ot & B S mifise w0
27
@l 1/16
(b} 1/25
) 16/25

(d) 17645 - .

10234@2993694@1&@
- e e R0

(a) 2:23
(b) 257
c) 323

(d) 357

P-PFC-K-OC/25A a7

103. n WEI Xi, X5, ey X &+ Tkt qY=Ig

F  Ow ﬁﬁﬁm c Bl n WM
X +k Xtk .., Xp +k  H HHR

et d

@ o ..
(b) c+k
(é) c-k

(d} ko

104, & GarEn @l ¥ 8x - 10y = 66 3R

40x - 18y =214 T x At & WEW
gélyavﬁmmﬁa’mw%?

‘fa) 3
() 4
) 6 ¢

d} 8

105, B FATE UIH 1 7FH FEad 2 @

g 8 Prafeafga sot # @ FF-w,
FATE il & 9 ] TGQ -7
| ol Fe 87

@ wh%ﬁwﬁaﬁmwmwhﬁ

FCE TET

" (b it § Rl o 21 AT e

qyﬁaﬁmqmagaa

(c) qyﬁm%ﬁm‘tsﬂmﬂwgyﬁaﬁ
F T T

(d) I ° & H 7H
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106. Consider the following data : - 108. A lot of 4 white .and 4 red balls.is

_ Factory-A | Factory-B randomly divided into two halves.
Mean wage of workers | Rs 540 Rs 620 What is the probability that there
Standard deviation ‘ will be 2 red and 2 white balls in
of wages Rs 40-50 Rs 31 each half ?
What is the variability in the wages (a) 18/35
of the workers in Factory-A ? :
fa) 100% more than the variability (b) 3/35
in the wages of the wgrkers in ) 1/2
Factory-B
fb) 50% more than the variability (d} None of the above
in the wages of the workers in
~ Factory-B 109. The distributions X and ¥ with totai
fc) 50% less than the variability in number of observations 36 and 64,
the wages of the workers in ' ahd'm_ean 4 and 3 respectively are
Factory-B ' . ' combined. What is the mean of the
(d) 150% more than the variability resulting: distribution X+Y ?
in the wages of the workers in ' '
Factory-B _ . (a) 326
(b) 3-32
107, LetU={12 3,..,20} Let A, B, Chbe
the subsets of U. Let A be the set {c} 3-36
of all numbers which are perfect
squares, B be the set of all numbers (d) 3-42
which are multiples of 5 and C be
the set of all numbers which are . .
divisible by 2 and 3. 110. Consider the following data :

"» Consider the following statements : sl71s8l4ls

1. A, B, Care mutually exclusive. yl2la]3]2la
2. A, B, Care mutually exhaustive.

3. The number of elements in the What is the regression equation of
complement setof AUB is 12, yon x?
. Which of the statements given
above are correct? fa) y=0-6+0-4x
{a) 1_a9d2oqu _ (b} y=0-7+0-3x
() 1.and 3 only = ‘
: f¢) y=6+5x
{c¢) 2 and 3 only
{d 1,2 and 3 : (dl y=4+9x
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106, Fi=fafiaa sTwet w = i

F=A-A, | ¥A-B

gyl $i e wegl 540 %o | .620 %o
w@aﬂmﬁﬁa—m 40-50 Fo 31 To

HF-A T gl i wed § REdsiiera

w1 37

() %t-B # wd # wed #
giEdsiiciar ¥ 100% Sl

(b} ®F-B # wegl A g #
giEaTsite § 50% SRl

() ¥A-B A wogh H wegh A
FiEaYiEaT ® 50% &

@ - % T # weh #
aftgdafietar & 150% ST

107. TR AT U = {1 2 3 ..., 20}; 7R FHT
A, B, CIT\Y=A § U %| AW S A
T oot vt & wg=g @ S gl ol &
B mfivemsli magem B 5 F
s § ¥ ¢ 39wl et @ wg=y
& 2 ok 3 9 fawrsw £
Fefaftn et w foem fifom .
1. A, B, ¢wer aafm 2
2. A, B, CwR Fedvs &

3. AuB%ﬁmﬂgaqﬁma%ﬁ
e 12 B

I wel & ¥ E9-8 wd €7
-(a) Fae 1 AN 2
(b) Fae 13 3
) Fad 2 A 3
(d) 1, 23MW3 |
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108. 4 T 3 4 T T & ) H A T

i argfegea: fwm fen s 31 W_@w
ad # 2 e 3N 2 whe TS B, SR
BIDET I 4

fa) 18/35

(b) 3/35
fc) 1/2
(d) IF 7/ B A

109. R X oK v, f% o7 Jamit f gen

w36 3 64 T WM 4 I 3 E,
firen R s &1 afomft fem x4+ v @

| e R

(a} 326
(b) 332
fc) 336

d) 342

110, PR siee @ R SR -

s | 7|8 4|6
2| a}3|2]a

x T y o1 THIHET FiwTo = 27

fa) y=0-6+0-4x

b y=0-7+0-3x

fc) y=564+5x

(dj y=4+9x
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111. What is the value of

. cos{ax} - cos{bx)
lim ?
x—0 P

fa) a-b

(b) a+b

For the next three (3) items which follow :

The frequency distribution of life of 90 TV
tubes whose median life is 17 months is as
follows :

Life of TV tubes | No. of TV tubes
{in months}

' 0-5 3
5-10 12
10-15 x
15-20 35
20-25 u
2530 |

112. What is the lower limit of the median
class?

{a) 10
fb) 15
fc] 20 -

(dj 25

P-PFC-K-OC/25A
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113. What is the missing frequency y?

(@) 20
(b} 16
¢) 15

d 12

114, What is the cumulative frequency of
the modai class?

(a) 31
(b} 35
{c) 66

(d) Cannot be determined as the
given data is insufficient

115. If the area of a triangle with vertices
(-3, 0), (3 0) and (0, k) is 9 square
units, then what is the value of k ?

fa) 3
(b) 6
c) 9

(d) 12




111, lim cos{ax) - cos{bx)

& HE 3 27

x—0
fa} a-b
(b) a+b
' b2 - q?
(c) >
b? +a?
(d) 5
Al (3) Wt & forw
90 Ao Ho @l A, Fht meg a1y 17 7 ],
1Y &1 o e R R man g
Zo dio Zeq@l # 3wy | Fo o =T HN
(v #) G
0-5 3
5-10 - 12
10-15 X
15-20 35
20-25 y
25-30 4

112. m@aﬂaﬁ-ﬁﬁmtﬁmwé?

fa) 10
(b} 15
{c) 20

d) 25
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113, 3T9H S0l y 1 87

() 20
b} 16
(¢) 15

[d) 12

1

114, ge @i s el s w4 37

fa) 31
(b) 35
(c) 66 -

(@) Freh e < e, i e

115. o Pt Fogs w0 o s o

(-3, 0), (aO)aﬂt(omm% 9 T
TF% 8, @ k W WE w7 '

@) 3

b} 6
fc) ©

(d 12
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116. Consider the following statements :

If A and B are independent events,
then

1. A and B are independent

2. A and B are independent

3. A and B are independent

Which of the above statements
is/are correct?

fa) 3 only
(b} 1 and 2 only

(@ 1,2 and3

fd) None of the statements 1, 2
and 3 is correct

117. If x =k(0+sin6) and y = k(l+cos8),
then what is the derivative of y
with respect to x at =7 /27

fa) -1
(b} O
(c) 1

(d) 2

P-PFC-K-OC/25A 42*

118, What is the value of

142 4% 446 +... 44100
where i =/-1?

(@ 0

(b} 1

fc) -1

(d) None of the above

119, What is the value of

1 o 202
2 202  40°
3 3w’ 60t

where o is the cube root of unity?
. ,

(a). 0
(b} 1
fc) 2
(d ‘3

120. If the cardinality of a set A is 4 and
-that of a set Bis 3, then what is the
cardinality of the set AAB?

(@) 1
(b)
) 7

5

(d] Cannot be determined as the
sets A and B are not given
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116, Ffafm s mfmm fifm: ¢+ -, 118, 1+i2 +i* +i% + ... + {100 &y =1 B,

=T
ot 4 o B T &, @ T i=
0
1. AR Bw@da @
‘ ) 1
2, AR BEdAE
{c -1
3. A3l Bwea
(d) 3T} g
I FeEt § A RA-T/A ' R/E ‘
(a) HaS 3 1 o 20
119, |2 20° 40° | % HE ¥ ], TE o U
(b) Faet 1 3R 2 3 30° 6o’
T YA B0
¢) 1,233
(@} O
(d) FeA 1, 2 3 3 7 | B wd () 1
2
fc) 2
(d) 3

117, AR x =k +sinb) W y= k(1 +cosH), .
A =n/2 Wx ¥ TG y 7 JTFA 120. IR @™ A & TH-HSAT (cardinality)
1 37 , 4 % o wg=g B A 3 &, @ wge
AA B 6 ToR-wEEn w11 87

“faj -1

fa) 1
() 0 | b) S
o 1 ) 7
o (d) T Pl s wedt, w6ile agem
(d 2 A 3R B 7 few &
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